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Winmeen - Group 4 VAO General Studies Model Test 13

1) sflwnest aflemLenws CaIHOS0H

1) opulliflsasest s eflwnd LGIM_CLNGgmeun
QL ([Hevvrevsflwuney guBEMG).

2) UemmevGomgwibdlest LML QevTLIGIL(HES

eom aumpsHens &Hpmdl QEnseilest 2 LibLilév

B QUMD
A 1w (Ho B. 2wl (hbd
C.1&2 D. e1gi61ib @6vemen

Choose the correct statement.
1) African sleeping sickness is a protozoan
disease.
2) Sexual reproduction of plasmodium Is takes
place in body of mosquito.
A. lonly B. 2 only
C.1&2 D. Neither
2) sflunest aunsSwsHens CoIHOS M.
1) emeugev Cumemw SLHULESSHID HHS CFwed
@&nesrL CauHlwiGunpeT smyessil @esTLFOLIT6sT

S}(SD.

2) esveorr emeugevsefleyd emafley QuIflwg)
SIDEDND EMOUITENV D(SLD.

3) UIGens; Gmmi emHesflum Gusivigeiy eTeiTemID
unsieflwneuney QsmHMID GHMUMEGLD.

A 1&2 B. 2&3

C.1&3 D.1,2&3
Choose the correct statement.

1) The more promising chemotherapeutic

agent for treating viral disease is Interferon.

2) Pox virus is largest of all viruses.
3) The plague is caused by a bacteria called

Yersinia pestis.
A 1&2 B. 2&3
C.1&3 D.1,2&3

3) saupnest aunsSwsHens CaiHOSEH
1) e1&526l emeuTenSl6sT aulgauLD QEMIPEMIOLIL] Sp(SLD.
2) eiégmall Qanhm Crnenw 2 M QFiw 2 Hajb
Cangement QeusivLijesT L6l o4, (HL.

Learning Leads To Ruling

3) @nevvi(D & (6T Ip.61601.6] er&gai] ulleot 25l Gevrmislen
2 6iTeng)|.

4) eTuIL 61V Grmis g Q&nh&slu @D
6BTIgemEUITEIV O (HHS] HFILCLIEOSISIg60T S, (SLb.
A 1&2 B.1&3

C.2&4 D. 3&4
Choose incorrect statement.

1) The shape of the HIV is helical.

2) Western Blot is a test which is used to conform
the HIV infection.

3) The genome of HIV contains two helices of
DNA.

4) The anti retroviral drug given for AIDS is

Azidothymidine.
A 1&2 B.1&3
C.2&4 D. 3&4

4) oo UL QFwensvd  Gnesui(HId
ammyGlomest 6157

A. sy igemestdlra eummiGLomest

B. sympGuimeGrmuilg eummiGlomest

C. sunefl&&leT GFsvsemens gessi(hLd ammGLomest
D. yGpmllggeivL_mest

Which hormone induce ovulation?

A. Luteinizing Hormone

B. Luteotropic Hormone

C. Follicle stimulating Hormone
D. Progesterone

4) SpseaviLammieT  W&EHET QB TEnSERW
Siwnesflé @ snessllaer wneneu?
1) Yoy efsw
2) @muy el
3) @LUQuuIGEFS
A 1&2 B. 2&3
C.1&3 D.1,2&3
Which of the following factors determining
population?
1) Birth rate
2) Death rate
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3) Migration

A 1&2 B. 2&3
C.1&3 D. 1,2&3
6) 1S EToTL QUM 61T LD&> G561 Qznens

seusCaR e ufHe QFEUWILED efleunrigeiT
wnemneu?

1) oy 6601 QLeToT QIS

2) 2amys BSTLILD O&SHETOSTENS

3) suwgy unGun@®

4) 1055671 QBNENS LSS

5) ssvaflwpfley Hlemev

6) swudlseflest ungismiy eigwn

A 1,2,38&5 B. 2,3,4&5

C.123,4&5 D. Gum&essTL Sienesi&H g
Which of the following details are recorded in the
census report?

1) Sexcomposition

2) Rural versus urban population

3) Age composition

4) Density of population

5) Literacy rate

6) Couple protection rate
A 1,238&5 B. 2,3,4&5
C.123,4&5 D. All the above
7) @bHw ipflwevenioliflest Walileny ______

A. oD SBSSUILLB6TENS).

B.oylb gpevs(haserflev (pemmGuw 1976 wmmib 1954
SOy SHSSILLESTE.

C. eperrl (pevm SBHSIUL(BeiTeng).

D. @gi6ueny H(HSSLILILEI606m60.

The Preamble of the Indian constitution was

A. Amended only one time

B. Amended twice, once in 1954 and another in
1976

C. Amended thrice

D. It was not amended at all

8) SwpsevoLeummisi Ffluneeng C5NHOS[HESaLD.

Learning Leads To Ruling
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1) usg giwell Q@omonewiggy  13eug)
HHmressTenL & C&iThs6ul.

2) @au aflfleipLemeuEHBHT 61651 6(IHEUENSWITETT
85I H5gIeuHeng urilew.

3) @euj UHEUEBLUGMHEL HIMHSm].

A 1&2

B. 2&3
C.1&3
D.1,2&3
Choose the correct statement.

1) A Bakthi saint Ramanuja belongs to 13®

centuary.

2) He preached Vishistadvaita a Hindu

philosophy.

3) He was born in sriperumbudur.

A 1&2
B. 2&3
C.1&3
D. 1,2&3
9) seumnest aunsHlwsHs CaHIHOS®H .

1) @bHw ipflwevemoliy LD LGS I ev 12
eSl(pbgl 35 eueny 2s6item FLLLLlfleyseT SipliLiemL
2 flemwas uHflé samiflesTment.

2) mwg SrFlwed  Semwlifled  gliewl 6
2 flenns6iT 2 6iTemest

A. 1wl @b B. 2 1l (b

C.1&2 D. s1glayb Qevenev

Choose the wrong statement.
1) Article 12 to 35 in part III of Indian
constitution contains Fundamental Rights.
2) There are 6 Fundamental Rights in our

constitution.
A. lonly B. 2only
C.1&2 D. Neither

10) Sipsevoneummieit Fflwnestens CoIHOSH.

1) @bslu Sipflwevenioliy 6N(WSILILL  HJFluled
SleMLILIMELD.

2) @BHw SirFlweven L QBE(LLD HMID @BSIT

SH60T6BIOU6BILLLIG;I.
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3) @pHw SiTFlwevemoliy LOSEFFTIUDM HTEOF

2 L UIG|.
4) @pswu  snflwevenolly FalLmldl (pemm

SNN&ES 6THITM6sIZ).
A 1,2&3
C. 13 &4
Which of the following statements are correct?
1) Indian constitution is a written one
2) Indian constitution consists of features of

both flexible and rigid constitution
3) Indian constitution established a secular

B. 2,3&4
D. siemer1&Hgid

state

4) Indian constitution is against the federal
system

A 1,2&3 B. 2,3&4

C. 1,3 &4 D. All the above

11) QuNB5815.

a) geundlggev — 1) GGemn@rmilemmeivL
b) uns& Caisens — 2) enwl GLnsmesorL_iflwimest
c) 6flEBaiEema — 3) w&HipGWITGambd
d) sr5560 — 4) flGUNGamD
A3 21 4
B.2 41 3
C.1 2 4 3
D.4 3 21
Match the following.
a) Respiration — 1) Chloroplast
b) Protein Synthesis — 2) Mitochondrion

c) Photosynthesis — 3) Dictyosome
d) Secretion - 4) Ribosome

SN W
w DM s~
—_ W W N

1
1
4
2

oowsp

12) gngngdl GMSs SPssaTIL  SH(H5ISere
Seaumnesteneausenst CaiHOS®H .

1) prgnedl ugiunenenwdHlev  SMbE  SpF oW
NS SHTI.

2) sUl&&H60 2 L1 FSHWTHTSD SpTLNSST].

Learning Leads To Ruling
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3) Q@evL&smev  ipdlesT 2 6GIENMN  SHENDFEFNNS

SoHS.

4) sspdly  @bdureileo  Qsmfles  gleom
SOWFFNTH Q(HHSM].

A 3&4 B. ,3&4

C. 28&1 D.1&4

Find the incorrect statement among the following
with regard to Rajaji.
1) Established Gandhi Ashram in

pudupalayam.
2) Started salt satyagraha in Tamilnadu.
3) Home minister in the interim Government.
4) Industrial minister in the free India.
A 38&4 B.1,3&4

C. 2&l1 D.1&4

13) Sipsevoreummiet Fflwnestens CaIHRSEH
1) wssu  Guppsrmest  2zullelT  HEOELBHS]T

UTLeSIUSSITSHenS 2 (THeuT&e e

2) wag singyTes KwUlEny anflunkisn aubssens s

&MhSel.
A 1wl (o B. 2wl (hb
C.1&2 D. s1glayb Qevsnev

Choose the correct statement.
1) Udayin is a Magadha king who established

capital at Pataliputra.
2) Magadha empire’s king Bimbisara belongs to

Hariyanka dynasty.
A. lonly B. 2only
C. Both D. Neither

14) #fluns QunpnHS 2 senens CHIHOSH .
1) pg@Wid - ip@L 6 aflipr
2) eumggGuiwid — Gy GuLly
3) oi6veuBLsLD - (GHen Geusl)
A 1&2 B. 3wl [Hb
C. 2wl (hbd D. Gm&essTL 16516515810
Choose correctly matched pair.
1) Rajasuya — Consecration Ceremony
2) Vajpeya — Chariot race
3) Asvamedha - Horse sacrifice
A 18&2 B. 3only
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C. 2only D. All the above

15) SpsevoLeoupmiet maEgTLAulletT S (HLILM 960
aunnsg) 61517

A. BevsmBISET B. SwenewtliLS glemm

C. @hsn(hssiT D. @& Q&ML Ipsva6iT

Which among the following does not come under
the purview of muncipalities?

A. Libraries

B. Fire service

C. Burial grounds

D. Slaughter house

16) seumnest Qemevvieni C5IHOS®H -

A. sownigerlest BrLmEBLssTHD — 1897

B. mmymwesst i Liflumevssr Guinsd — 1903

C. @pdHlw westpragerflest &L b — 1861

D. yglw uesstenswot (pemm — 1833

Select the incorrect statement.

A. Parliament of Religions — 1897

B. Narayana Dharma Paripalana yogam — 1903
C. Indian councils Act — 1861

D. A New plantation system — 1833

17) sflunen aunsflwseng CaHNboS®H .-

1) Gy wrdHflwmes 2lyeufleww efiLesr Uy
SiBlwsLiLBESleorm.

2) B usstpaLLBESIDL QaTsTengenw Gu@wim Ly
SiBlwsLiLB&Sleot.

3) @BSHW(HESSTeTT FLLLILIGWITET (SHlgenoll Liessls
glemmenw 6SLLedT LITL HemSSTT].

A 1&2 B.1,2&3

C. 3wl (hw D. 2w (B

Choose the correct statement.

1) Lord Lytton introduced Uniform salt tax.

2) Lord Mayo introduced the system of

decentralisation of finance.
3) Lord Lytton established the statutory civil

service.
A 1&2 B.1,2&3
C. 3only D. 2 only

Learning Leads To Ruling
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18) ugprmubg  Goizer  GHIBZ &G
Qsn{hssLuL (heTem aunslwrniserfleo
sflwnesteumenm CaIHOSE -

1) o6memmidl  Sevwlllest  opessihHm0 5
ugseildameod  (Peusnh@  (werunsGsu  yHlw
2 6TTeNMML&) SenLILISEHSSTeT CaigH60 BLSHSHLILI(HLD.
2) 2 6oL SiemwLIL (PesTFal la@u HeneusasLILL(H
LSWSNS HemwsHSLILBD 2 6Termmidl  SiemioLifesr
ugall Smevld (PILEMWLWNS BB 6ooT(HSHEHEHE
BLligss LB,
A 1ol @b
C.1&2

Choose the correct statement regarding the
panchayat elections.

1) Fresh elections to constitute a panchayat
shall be completed before the expiry of its
duration of five years.

2) Panchayat at reconstituted after premature
dissolution enjoy the full period of five years.

B. 2w (hd
D. s1gleyb Qevemnev

A. lonly B. 2 only

C.1&2 D. Neither

199 @hdw  digswj  @Hss &Gy
Q&n(pssuuL (Hsitemeummieir Fflunestens
CoIBOSE6-

1) Apswiflsst Gsiey wOMIL Hlwwestd QFHTLFLTES
SiflwevenioliLiley 6THS Q(H GO
[BEBIL(LPEOMUILD E6Veme6v.

2) UMMEBLETD AHTFTEISSEH 6T  ILsereTULy
wésememeuuiley s  QupbUMEsTem  GUMILD
sLAWlest semeveueny LNTsnms (GllfgHid $en6voell)
HlwBlsEmmy.
A. 1ol @b
C.1&2

Choose the correct statement.
1) The does not contain any specific process of
the selection and appointment of Prime
Minister.

B. 2wl (Bib

D. eiglayb Gevemsv
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2) Accordance with the conventions of the
parliamentary system of government, The
president has to appoint the leader of the
majority in the Lok Sabha.

A. lonly B. 2 only

C.1&2 D. Neither

20) eounpesomAAuiles wWHHW Qg Ueier]
2 (HeuMeusH(G (PHEHW SNIEssIOMETTOUH6IT WIT?

1) 6mb.89). presT@L

2) Ulfest &by Limev

3) 161601 QUEEDT

4) wa6t1 GOMa6sT Lomemaiiwim

A 1&2 B. 2&3

C.1&3 D. 3&4

Who among the following was associated with the
establishment of the central Hindu school at
Banaras?

A. M.G.Ranade

B. Bipin chandra pal

C. Annie pesant

D. Madan mohan malaviya

A 1&2 B. 2&3

C.1&3 D. 3&4

21) seupns QuNBHSHWsTenens CHIHOHE .

A. @emb aursisem @uiGsLD - afleflwest GLGrmensGuim

B. 500185 555 F60TOMIES FHLIGID — 6U6TETEVT)

C. s58mewT Hevall HP&H — 61D.83). mmesTGL

D. HiBWuBS QUISSLD - &I HSHLG| QELIMV

Choose the incorrect pair.

A. Young Bengal Movement — Vivian Derozio

B. The samarasa suddha sanmargha sangam -
Vallalar

C. The Deccan Education Society — M.G.Ranade
D. Deoband Movement — Sir Muhammad Igbal

22) ueverfletT 2L etTUgSHens UMM Fiflwimest
sapenm C5IHCSE:

1) @semest WIMSHWITHET DigeWID FIF6OID 6168
SEBPE G 60TI).

2) @51 Gueipsunemeu WML il SHTFI6ST HEWEVEUTTES
2plell55g!.

Learning Leads To Ruling
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A 1w (o B. 2w (hbd

C.1&2 D. s1gle|b Qevemnev
Which of the following statement are correct
regarding Treaty of Bassein?

1) It was considered as the slave charter by the
Marathas.

2) It recognized peshwas as the head of the
Maratha kingdom.

A. lonly B. 2 only

C.1&2 D. Neither

23) opmfHGeow oyl Auflev waeveumfl euflpenm
6TH G LOM&MEBUILD 316605 u@Sserflev
BeoLpenpuiles QuHsSI?

1) QF66T6m60T LOMETETTILD
2) srienss Fweuefll LGSHssiT
3) cuL B (g LoMSMessTLD
4) LEHETLI LDMSMESEILD
A . 1,2&3
C.1,3&4
Mahalwari system was exercised in which of the
following regions during British rule.
1) Madras presidency
2) The Ganga valley
3) North west province
4) Punjab province
A 1,283 B. 2,3&4
C.13&4 D. All the above
24) seflBul Heom  eu@HLMEND  ETUQUTILS]

B. 2,3&4
D. Gumh&essT HH6n6sTSHGILD

2 wiHmg)?

A Qursg Capdlw 2HUSH WD WEHESHET QFHTeMSHULD

8y CBrsHHev 2 Ww(HD Gug.

B. Qumsg GCailw 2musHWD &ESETOHTEMSULD

& LEUTE).

C. Qumsg GCoilw 2mHusEH ASSFLIL  LES6T

Qanensenw el SHa0ne 1SHsf&eE0neung

D. @Y r:¥: Caflw 2 Huguilev

&&6TEGTensmWailL GemnmubELng)

Per Capita Income raises when

A. GNR and Population increases the same time
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B. GNP and population decrease
C. GNP increases faster than population
D. GNRincreases slower than population

25) Sipssevoi_summien sflwneens CaiHOS(0H.
1) RBI 6871 (0560 @bHW Seuiesti CHeip(Lpds peui.
2) RBI 1935 o4 o46501(0 2-(HeunssLILLL ).
3) RBI s6vflbLITSEHEE) HL6IT 6UIPMRISTS.
A 1&2 B. 2&3
C. 1&3 D. Guh&estiL Sienesi&gIid
Choose the correct statement.
1) First Indian Governor of RBI was Deshmukh

2) RBI was started in the year 1935
3) RBIdid not issue credit to individuals

A 1&2 B. 2&3
C.1&3 D. All the above
26) sflunestens CaIHOSH.

1) 2011 o opevoih WEHHET  QFHTENS
seots0sGH ULy  @hHwnelled  BEHT  LSHSET
@srens 31.2%

2) 2011 o0 opevih WwEHSET  QFHTEnS
seeris0sHLIUesTLE LTedlest eflflgh HHsD 2 6o
BleVD (HRQTMTS.

3) 2011 o0 eI WwESET  QFHTEnS

seors0sHUMNetTUe  anflwnesm  wrbleod  Wlas

Gophs  Gwbes  umeller  ellflssens
@& mess(h6iTeng).

A 1&3 B. 2&3

C.1&2 D. Guh&estiL Sienesi&gid

Choose the correct statement.

1) India’s Urban population is 31.2%

2) Gujarat has highest sex ratio

3) Haryana has the lowest child sex ratio
A 18&3 B. 2&3

C. 1&2 D. All

27) 2685 Semailev wevflys  euem  GuuM(H
siflsemsenw swmflsg QeuefluliGn  Bimieuesnd
61517

A. UNDP

B. UNEP

Learning Leads To Ruling
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C. 2605 aumig

D. 2608 &&MHMTT H6nIOLIL|

Human development report of the world prepared
and released by
A. UNDP

B. UNEP

C. World Bank
D. World Health Organisation

28) HRIDAY er6tiy Q&mev et6ns &mléSIme)?
A. afleugmull Guwun® B. mar Cuwbum(

C. sevail Guwum(y D. eumiemio epiflLiL]

The term HRIDAY relates to .

A. Farmer Development
B. Urban Development
C. Educational Development
D. Poverty Eradication

29) seupneens GBS0
1) 1946040 <pevt1(h HEMDEFTENEUS  HTEISEH(LD
QbEHWINESE HeILIULILLLS)].
2) @3 @pHum womb urHevsrest SpEW
BI(H&EHHE QECaM ATEWEVEHILIL] SHEMDEHS

QLIS Di6MES5GI.
A. 1ol (Hb B. 2 bl (hid
C.1&2 D. s1glayb Gevsnev

Choose the incorrect statement.
1) Cabinet mission plan was sent to India in
1946
2) This mission accepted the idea of two
constituent assemblies for India and

Pakistan
A. lonly B. 2only
C.1&2 D. None

30) @hHlw spFmmass FiLD 1935 oub pevo1(0H
Ul Seupnen sapenm CEIHBOSE.

) @3 wiHuiler Qrienr opfloow @SS
ombleugHled @ el pl Flemw SHMl(W&b QFWLSH].
2) @5 eI HBMEIGEneT HEW HTEHEHS,
lefEsg).

A. 1wl @b B. 2 1l (b
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C.1&2

Choose the incorrect statement regarding
Government of India Act 1935.
1) It abolished dyarchy in the centre and
introduced it in the provinces
2) The residuary power were given to the

D. e1gi6b Gevemev

centre.
A. lonly B. 2 only
C.1&2 D. Neither

31) embg Mapailstt smewnons Gamevigrien &G
wnj@uwlen etetTlm LILLID eulprasILLLg)?

A. wymg Hw Gumflev CleustTHSHET HMITeBTLONS

B. UesoLnflaer eeidlm  QameitemeniLfgHemer
Q(HEHWS6T STEsTILONG

C. opuismesil Gufled G6uesTM&H6DT STTETTILONS

D. gafsam Gufled GleuesTHEHEDT STT6EsEILONS

Hastings was conferred the title Marguis due to

A. The victory in war with the Marathas
B. The suppression of the pindaries
C. The victory in war with Afghans

The victory in war with Gurkhas

32) ACWNEH) SNgFnesTs) FlenesviLiLenL HLLEHms

ghmIs Q&neiten snrewsnons Qb Hlspea 618)?
A wrmeHwi uemLQuwi(BLiy

O

B. oplismesilwy LemLQui(hLiy
C. F&Hwi uemLQuiBly
D. Gyréleveury LemL Quwi(hLiLy

Which of the incident paved the way for the oudh
to accept the subsidairy alliance.

A. The invasion of Marathas

B. The invasion of Afghans

C. The invasion of Sikhs

D. The invasion of Rohillas

33) @HHw NFW6v iDL FLLH0S 2 (HeUss
61155150\ METITL. HMEVLD 6T6U6U6TTEY?

A. 2 oy6v01(n&6T, nemseT bHmID 10 BT ssiT 13

B. 2 oypevoi(hssit, 10 wnsriseT wHmib 14 B geir

C. 2 oyevo1(h®6, 11 nsm&eT wHmib 18 B geir

Learning Leads To Ruling

Prepared By www.winmeen.com

D. 2 oyetur(pse6it, 11 ngrise whmib 20 mBrgeit
The duration to make the constituent of India was
A. 2years, 10 month and 13 days
B. 2years, 10 month and 14 days
C. 2years, 11 month and 18 days
2 years, 11 month and 20 days
34) Seupnes sapenm CiHCS 6.
1) SsigliLenL BLen&sT UDMW F75g S51A.

O ¢

2) G &yevt (Blpemio FLL D UDW F753 44.
A 1w (o B. 2 b (hd
C.1&2 D. s1gl6)b Qevenev
Choose the incorrect statement.
1) The Article that is related to the
Fundamental Duties is 51A.
2) The Article that is related to Uniform civil
code is 44.
A. lonly
B. 2 only
C.1&2
D. None

35) seumns QuNBHSHweTenens CaIHos (6.
FLLSE(HSSWD  mblevld

A 14 - LO&TTTEIBLRTIT
B. 22 - 106wofILILL Iy
C. 36 - AL :3Th)

D. 12 - Gsmeum

Choose the incorrect statement.
Amendment State

A. 14 - Maharastra

B. 22 - Manipur

C. 36 - Sikkim

D. 12 - Goa

36) siflunest samenm CaIHOSMH.

1) RK. geoipsbd GQ&lpwny womib Fefleuns
swismy 1923 & swimgw sl dulled Qenestnbg
LesstlwmmslesTry.

2) sIPBILIEL (P&6T (P&H6S160 193794 1D 4,660TIR60
smaglren opl Hemw g ss).

A. 1ol @b B. 2wl (b
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C.1&2 D. e1gi6b Gevemev

Choose the correct statement.

1) In 1923, R.K.Shanmugam chettiyar and
Srinivasa Aiyyangar were joined and
worked in swaraj party.

2) In Tamilnadu, Congress captured the power
for the first time in 1937.

A. lonly
B. 2 only
C.1&2

D. Neither

37) sflunestens CaiHOSEH.

1) G wresHev @HHwmallest QeuliLiBlensowimesa)
2 &5 [Hlemevenl SemLSImg|.

2) e%mev  LIBSHL UL SHOTHEHTENSHEH 0
QeULILILDITEDT LOMHLONS 2 61T6TE)).
A 1wl (Ho B. 2wl (b
C.1&2 D. s1igia|b Qevemev

Choose the correct statement.
1) InIndia the maximum temperature is
registered in the month of May.
2) The hottest month in the Northern
Hemisphere is July.
A. lonly B. 2 only
C.1&2 D. Neither

38) SwsaTILauDmIET QUL JIUIETTLOCBITL 60
@&oneueflé @ s1hSHSESTE DHevevnsg) 6157

A. QLmjesTm@LIT B. emLLy601

C. amifl@setreny D. aflvafl aflevel

Which of the following is not an example of
tropical cyclone?

A. Tornadoes

B. Typhoons

C. Hurricane

D. Willi willi

39) Spssaviaummer  Ffluner  samenm
CaIBE56-

1) spmETh Geuli eI &Mev  Hlemevuiley

2 6iTeng;.

Learning Leads To Ruling
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2) sy BILed SpeTTHES Qb e Gflw
&H&6T Q&mGS55M8 all(Wwsmg|.
3) sUWPEMTLIsL (GDreustl wemPLQUMGle] LISD
[BEULDLIT Sp(SHLD.
A 1&2 B. 2&3
C. eiglalb Qeveney D. siementdgid
Choose the correct statement.
1) Tamilnadu lies in the tropical climate zone
2) Tamilnadu receives vertical rays of the sun
twice in a year
3) The month of November Tamilnadu receives
cyclonic rainfall

A 1&2 B.2&3
C. None D. All
40) sflwneniens CaiHOS (-

1) Ggetr (1 H(HLUIBMF evflwins LiwssTUHE DG

2) Gaett Ambs LSILBHSGID QUTHSTTE 2 HeUHDE|.
3) Gaetm 1H5HH 26Tem  anfBomEGermilenest
& FUNDE WHEW LkiE eufHsSmsg|.
4) Gaett 153505 F55\5158 2 saEDF).
A 1,2&3 B. 2,3&4
C.1,3&4 D. sienesisg)b
Choose the correct statement.
1) Honey acts as an antispectic
2) Honey is used as a preservative
3) Honey builds up haemoglobin content in the
blood
4) Honey is a blood purifier
A 1,2&3 B. 2,3&4
C.1,3&4 D. All
4) ooasHaws
SI6LEVNBF)| 6157

Sneugrageflest  LevoL

1) euemevlLt LiletTented GuimesTm BFOLIEMOLIL] G\ TessTL
Q65160861

2) #6060 CaufEBMGLIL Q(HESLD.

3) LENBIPE6T eLp6tTIl6ST L MHISNS G(HESLD.

4) suememw 6ulgeUSHL  EUMEVEGHEVMT  HHEOMEET
&mevoTL L (H'LD.
A 1&2 B.1&4

Page 8 of 17



http://www.winmeen.com/

Group 4 GS Model Test

C. 2&3 D.2&4
Which of the following is not characteristic of
monocotyledon plants?

1) Reticulate venation in leaves

2) Fibrous root system

3) Flower parts are multiple of 3

4) Ringed vascular bundles

A 1&2 B.1&4
C. 2&3 D. 2&4
42) #flunesteng CsNHOS®H'.-

1) eresoT@6wOTl EfSHGIB6ET QL(HL6TEY SHLONPBTL 6sT
G wessTLevgSlev LIUfF QFwwLiLI(h&lesTmedT.
2) sUlpmrlges GomE UGHSsT CFbloesst

IH6VMBIS6TT D(GLD.
A 1w (Ho B. 2wl (b
C.1&2 D. s1igia|b Qevemev

Choose the correct statement.
1) Oil seeds are mostly grown in western part

of Tamilnadu.
2) West part of Tamilnadu has Red soil.
A. lonly B. 2 only
C.1&2 D. Neither

43) QuUNB5SI5.

a) 800 — 1000 818 - 1) Q&ssemest

b) 1000 - 1200 S - 2) sevtesflwm@oifl
c) 1200 — 1400 105 - 3) Heusniens

d) 1400 S euemiy - 4) H(Hepessrdf
A.21 4 3
B4 3 2 1
C1l2 3 4

D.31 2 4
Match the following.

a) 800 -1000 mm - 1) Chennai

b) 1000 - 1200 mm - 2) Kanhakumari
c) 1200 - 1400 mm - 3) Sivagangai

d) Upto 1400 mm - 4) Krishnagiri
A21 4 3

B4 3 2 1

C.1

D.3 1 2 4

44) seupnent samenm CaiHOSEH.

Learning Leads To Ruling
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1) Ugsneund sgiiyblevs siheeT  SLevmy
eI L SH60 D6noHS 1616
2) mGrm(y wOmIL CaHmemeu meul L hiserfley HLLILY
sifla BlevriseT Siflawns srewrliuGEDS|.
3) smhm WetT 2 HuSH QFLWD (WLUBSHEL LGS
settesflwm@Loifl meul LgSlev 2 6iTens).
A 1&2 B. 2&3
C. SimeriagID D. e1gleb Gevemev
Choose incorrect statement.
1) Pichavaram mangrove forest situated on the
district of cuddalore.
2) Erode and Covai having high amount of
current fallow lands.

3) Muppanthal known for wind mills is in the
district of Kanyakumari.

A 1&2 B. 2&3

C. All D. None

45) gbun u@heud umflw Goliyseflss sfluness)
61517

1) eflems il - sg6vT6uifl LOMGLD

2) SimIeUEL - 87960160 LOMSHLD

3) aflemsLiy - 82%me6v LOMFLD

4) simieuemL - evteuifl LOMGLD
A. 1oL @b B. 2&3

C. 3&4 D.1&2
Which of the following pairs are correct regarding

Samba season.
1) Sown - January month
2) Harvest — July month
3) Sown — July month
4) Harvest — January month

A. 1L @0 B. 2&3
C.3&4 D.1&2
46) SpssevoTLeummie Fflwnestg) e15?
1) Qeusiteril Gam(sTHE() 6u6Tfl6BETL 6VLD @60L6MI6Y.
2) Fnhdlrett  GlenesoTGHM(EHSHE — 6u6lLDETITL6VLD
BQ6vemev.
3) Qasueumis Gameh&: (& 6ueTTlLESETL VLD 2 65oT(h .
A 2&3 B.1&3
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C. sienerigglid D. e1g1611D @6v6m60

Choose the correct statement.
1) Venus does not have its own Atmosphere.
2) Moon does not have its own Atmosphere.
3) Mars has Atmosphere.

A 2&3

B.1&3

C. All

D. None

47) Gevsj omiemen HAHFemgullev LwesTLIHID
sevfloid e1g,?

A. ammeoislui B. @evoriguiid
D. Gumflwib

The name of the metal used in Laser surgery is

C. smeflwi

A. Holmium
B. Indium

C. Thallium
. Bhorium

O ¢

48) sevviewtimgenl &SSO QFLWD CQuperlsv
2 616 SN 6157

A. smevdlwib emaml fr&Hens(H

B. Qu&esfflwid smaml rrsens(h

C. <ibGwneflwd emanl yr&Eeng([H

D. QuniLrflwib emaml fméeng(h

The base that found in window cleaner is
A. Calcium hydroxide

B. Magnesium hydroxide

C. Ammonium hydroxide

D. Potassium hydroxide

49) seupnesiens GBS0

1) 8Ll Hlyeu 2 ewstensu L (HGW 2 L QsneTdmag).

2) siSumeiley QFfSsLILLL 265076  LITEU6Y CLPeVLD
2 L6V (LP(LR6UGILD LITeYEIms).

3) ewSumeiles QFflsslULTS 2656 2160
Guhuriy sulwng QeueflCumIH ).

A 2&3 B.1&2

C. 3w (hw D. 1wl (hw
Choose incorrect statement.

1) Amoeba takes liquid foods only
Learning Leads To Ruling
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2) In Amoeba, the digested food reaches the
entire body by diffusion
3) In Amoeba the undigested food is excreted
through its body surfaces.
A 2&3 B.1&2
C. 3only D. lonly

50) CGmy Wetteumii &5 UesTLSE 6T Heumnesig)
61517

1) BleomwenL il &is6Tae

2) GriGsML igev Liwessll& @D

3) WletTLeLSSHl6v allevasd SiemL WD

A 1&2 B. 2&3

C. sieneuisgId D. e1gi611d @6vemen
Which of the following are incorrect statement
about properties of anode rays.

1) It consists of material particles

2) Ittravelsin straightline

3) Itis deflected by electric field

A 1&2

B. 2&3

C. All

D. None
51) (pBevneug) 261560 HigSHMISHENG QlgEINDSHS 6T
wny?

A. 568le51Gwm B. smamGlegstrey
C. enggett D. lu L ebr
First pendulum clock was designed by whom?

A. Galileo

B. Huygens

C. Edison

D. Newton
52) fluneviens CHIHOSEH .

1) wesllg 2 L6v Bevev LW6THMIL QLIMHEMT(GLD.

2) UWlerGermmiLd QFeveyid  sbilenw  &Hflw

sMhsLed @HUUeng 2mid QFlge el

sTeoTLILI (H'LD.
A. 1wl (b B. 2 b (hid
C.1&2 D. s1gieyb Gevemnev

Choose the correct statement.
1) Human body is a best insulator
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2) Orested concludes that there is a magnetic
field around current carrying conductor
A. lonly B. 2 only

C.1&2 D. Neither

53) Aleveuij GGemmeniy(h (& flw el (pebresilemevuilev
fenzaynml Heveuj wHMID &HCemmiflesT 2 (Heum@GLb.
Seumlest HlmrigeT (WenmGu

A. Q6usttTenid LHMID LIGEMLD &6vHS LEHE6IT HIMLD
B. &mbLiev HM|LD LSO $60[HS LOEHEST [HIMLD

C. QeustoTenIld H6VHS FMDLIEL LHM|LD LDEHE6IT [FIMLD
D. (&It B6vIES GleustsTenld HMID LIFend HIMmLD
When sunlight decomposed silver chloride into
silver and chlorine their colour respectively is,

A. White and yellow with green

B. Grey and yellow with green

C. Grey with white and yellow
D. Yellow with white and green

54) 2 GevnahIG6iT 2 eiter gevflorigefleor
eTesuTevnilenss wing?
A T2 B. 75
C. 81 D. 89
Number of metallic elementsare ____.
A T2 B. 75
C. 81 D. 89
55) SipssetorLaumenm smev auflensliL(bsgs.
1) wag) Hedlewf

2) Q&ysenen
3) S1Q6V&FTEBOTL I}

4) pag Camifl
A. 1-3-2-4
B. 3-1-4-2
C. 2-3-1-4
D. 4-1-3-2
Arrange the following in chronological order.
1) Mohammad Ghazni
2) Xerxes
3) Alexander
4) Mohammad of Ghori
A. 1-3-2-4
B. 3-1-4-2
C. 2-3-14
Learning Leads To Ruling
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D. 4-1-3-2

56) SifliLsriser ebz Guomgluiley eTroslLg)?
A. Npn&lmsbd B. swenvd\(msbd

C. SlymeilL1b D. umel)

In which language were the Tripitakas written?
A. Prakrit

B. Sanskrit

C. Dravidian

D. Pali

57) <iGana et &mevld
A. 273 — 236 AD

C. 372—-412BC
Ashoka's period was
A. 273 — 236 AD B. 372 - 412 AD

C. 372 -412BC D. 273 - 236 BC

58) waeomd mrbweuniesilest Semeu LjsveuryTesT

B. 372 - 412 AD
D. 273 - 236 BC

wmney S&GLMEfHD eesTe|d HIL FWeVEIHS
Qumgluflev sTppsULL (Bsieng)?

A. gevsTigEdT B. sneflgnay
C. unesoTLIS ST D. Quwseury

Who was the court poet of Narasimhavarman II
who wrote Dasakumaracharitam in sanskrit?

A. Dandin

B. Kalidasa

C. Bana Bhatt

D. Jayadeva

59) fipssevoiLoummist CGseu mmo Lwngd eretim)
Siens UL LT wmj?

A. #BSNGLE Quemflum

B. o1@ana1y

C. Gse6ngw UsHHT

D. wameliy

Who among the following also had the name
Devanama Piyadassi?
A. Chandra Gupta maurya

B. Ashoka
C. Gautama buddha
D. Mahavira

60) oiIgHeET Gens QealluniseT  seubHenm
A5 5f5£ng)?
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A. gmomwesstd B. wammumgsw

D. u@EpesHSTmseT

What do the paintings of Ajanta depict?

A. Ramayanam

B. Mahabharatam

C. Jatakas

D. Panchatantra

61. In a right triangular ground, the sides adjacent
to the right angle are 50 m and 80m. Find the cost
of cementing the ground at Rs. 5 per sq.m.

a. Rs. 13500 b. Rs. 650

c. Rs. 10000 d. Rs. 20000

e CFhiGsnewt (W&Gsmesst aulgallevnest Hlevddest,

C. gLsme

QERIBaETevSHD(E H(HEH 6L 26/Tem LESHHBIST 5015,
805 Si6malev 2 6iT6rTenT. 62(Th &F&IIT LI L(HE(S, €. 5 g,
HlevsHm@ FlEwessr(h GFIL @D QF6v6) 6TedTenT?
a. Rs. 13500 b. Rs. 650

c. Rs. 10000 d. Rs. 20000

62. One side of a rectangular field is 15 m and one
of its diagonals is 17m. Then the area of the field is
a. 135 m? b. 115 m?

c. 120 m? d. 125 m?

(H QFeu6us ulger eUWIESI6HT 6(Th LSS 15 LS Sp&ea,

SIFEST (I cypemevail L 1715 opsaid QHéSmE).

GUNg NbS euwellest LFLILIeTey _______ EYN:
BmESD.

a. 135 152 b. 115 15?

c. 120 5? d. 125 152

63. The ratio between two numbers is 9:5 and their
sum is 224. Find the numbers.

a.144 & 80 b.216 & 8

c.124 & 100 d. 112 & 112

@ eessiseflest allflgn 9 5 etesfley, Sieummilest
Fol (H50smens 224 ops @epuldlesr , Seuail(m
6T60351561T WIMem6U?

a.144 & 80 b.216 & 8

c.124 & 100 d. 112 & 112

64. If the ratio of two numbers is 3 :4 and their
H.C.F.is 4 then their L.C.M. is

a. 12 b.16

Learning Leads To Ruling

Prepared By www.winmeen.com

c.24 d. 48
@nevsi(h stesvisseiflest aflflgb 3:4 LHMID Seneusserlsst

5.@Qum.6u. 4 st65fl60 HHemeuderflest L5.Q L. LD.

a. 12 b.16

c.24 d. 48

65. Find the C.I on Rs. 15625 at 8% p.a. for 3 year
compounded annually.

a. 4058 b. 4048

c. 4028 d. 4018

e, 15625 &@ opevei(h eully 8% eigb eresfley, 3
24,650T(H & (6B Fal (B UL Ly SIT6TOIS.

a. 4058 b. 4048

c. 4028 d. 4018

66. If 18 men can do a work in 20 days then 24 men
can do the same work in

a. 20 days b. 22 days

c.21ldays d. 15 days

18 mufseT 6 Geuemevenwt 20 B gerfl6d QFLIFHTEL
24 pUTEeT 2G5 Gouemevenl CIFUIGI (Plg&Hs DS

=) (M)
a. 20 Bl seiT b. 22 prsei
C. 21 B gei d. 15 prsei

67. Complete the series : 225, 289, ?, 441.

a. 361 b. 375
c. 383 d. 386
auflemgullev all(fuLLeng BlTLiLs: 225, 289, ?, 441.
a. 361 b. 375
c. 383 d. 386

68. The value of a machine depreciates by 5% each
year. A man pays Rs. 30000 for the machine. Find
its value after three years.

a. Rs. 25,621 b. Rs. 26,521.55

c. Rs. 27,521.65 d. Rs. 25,721.25

S QubSsdle LEIL e SpssabL 5%
GODEMGI. Q(HeUT Qens auMmhiGeusmn(E e. 30000
QsTOSHT]. cpsnl pTTHHEDsEGU UInG Q6
&L 6TedTEBT?
a. em. 25,621

C. erp. 27,521.65

b. er. 26,521.55
d. em. 25,721.25
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69. The value of (1% X 3%) - (4§+ 5%) is

32 -32
L= b.—
151 151
—-151 151
— d—
32 32
3 1 3 3 . .
(1Zx3;)—(4575g)60‘rm51u|_|
32 -32
L= b.—
151 151
—-151 151
— d—
32 32
1. 11 1 1
70. The next term of — in the sequence-,=,—,—, ....
20 2°6 12720
is
1 1
a.— b.—
24 22
1 1
c.— d—
30 18
21—, .. o6t QEMLjeuflenaufleo 2 miiy —é
2’6’12’20" """ D SSTL oty 20 S
<085 2-mIy
1 1
a. — b.—
24 22
1 1
c.— d—
30 18

71. A can do a piece of work in 10 days and B can
do it in 15 days. How much each of them get if they
finish the work and earn Rs. 1500?

a. A=600,B =900 b. A =700,B =800

c.A=800,B=700 d. A=900, B =600

A @m Geusmevenrws 10 mriseflenid B oieng 15
BILsefeid Q&g (weluj. @meumn Caibgl
SHeuGeuenevenws Qauig cm. 1500-emw FrLipestmev,
2150 5nensemW sreueumm) Lifl&gi8 C&msiteur?
a.A=600,B =900 b. A =700, B =800

c.A=800,B=700 d. A=900,B =600

72. A capsule is in the form of a cylinder with
hemispherical ends. The total height of the
capsule is 19cm and the diameter of the cylinder is
7 cm. find the volume of the capsule.

a.147 r cm?® b.175.47 m cm?®

¢.175.70 r cm?® d. 204.17 r cm?®

QM LMsSHenrs  (GUUlwnesg)
QEUDWLD SemTaIl LI Sienhsg Guesm algailsd

2 (mememullest

2 66N DHS60T QMES 2 Wb 19 Q&.15, 2 (Hememulilsst
UL LD 7 Q&.15 & HlennsGLIL6T H65T D166y SHTessis.

a. 147 = cm?® b.175.47 = cm®

Learning Leads To Ruling
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c.175.70 7 cm?® d. 204.17 7 cm?
73.1f 60% of A = % of B,then AB is

a.4:5 b.5:4
c.9:20 d.20:9
A-65160% = B 661> Lirkig; erenfled, A 1 B eretrLig
a.4:5 b.5:4
c.9:20 d.20:9

74. A ribbon is cut into 3 pieces in the ratio3:2:7.
If the total length of the ribbon is 24 m, then the
length of each piece is
a.6m,4m,14m b.9m,8m,7m
d. 6m, 8 m,10 m

24 8 Bersitem e flliuest 3 12 17 etetTn &illGHSH 60

c.bm,6m,12m

eLpesTm)| glesoT(h&eTs QeulLiu(h&letTmg.
eeuGeumestilest [Berrid

a.615,4 15,14 15 b. 915,815, 7 1§

c. 615, 6 15,12 15 d. 615, 8 15,10 15

75. Vinay borrowed Rs. 50,000 from a bank of 2
years at the rate of 4% per annum. Find the simple
interest

a. Rs. 1000 b. Rs, 3000

c. Rs. 2000 d. Rs. 4000

allesti e(p suraigluilev ¢m.50000 o46601(h 6uLlp 4% G6v

@resst )  T(HSHEHHGSHS SHLevTMHL QUMD
sestleul Ly sevs1(HLilg

a. er. 1000 b. er. 3000

c. e 2000 d. em. 4000

76. Find the G.C.D. of x2+2xy+y?, (x + y)3, 25(x2-y?).
a.x+y b.x-y

C.—X+y d-x-y

X24+2xy+y?, (x + y)?, 25(x2-y?)6tr 15.QUIM. 61 &T6s0TS

a.x+y b.x-y

C.—X+y d -x-y

77.G.C.D. of X%y, X%y, x’y? is

a. x2y? b. xy

c. xy? d. x%y

x%y, X%y, x%y* etesTLI6vTOUMDM6DT LB.QILIT. 61 6TEHTLIS)
a. x2y? b. xy

c. xy? d. x%y

78. Simplify :3.5+ (7of 7)+.5x3—.1=_____
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107 109
a.— b.—
140 130
110 106
c.— d—
137 141

&(H&5GS. 3.5+ (70f 7)+.5%x.3-.1=

a. %; b. %z

c. g d. %

79.1f a =7, b = 5, then the value of a®-b*+3a%b is
a. 218 b. 307

c.735 d. 953

a=7whmibb =5, eesflev a®-b*+3ab et HI Hesors
a. 218 b. 307

c.735 d. 953

80. The cube root of 0.027is

a.0.3 b. 0.03

c.0.9 d. 0.09

0.027 @et1 s6vTCLpEVLD

a.0.3 b.0.03

c.0.9 d. 0.09

8l. eTHhs QBB W wWellsT Fagwmeller L&
2 Wihs GQ&Eer eaflpameor “Order of St.
Andrew the Apostle” eulpmBISLILILLSI?

[A] GLorfl @& ITLD [Bl 5GIHSH T GLOMLY

[Cl oyl sml ugFger [D] o1& LIGTLE
Which Indian personality has been chosen for
Russia's highest civilian award “Order of St
Andrew

the Apostle™?

[A] Mary Kom [B] Narendra Modi

[C] Amitabh Bachchan [D] Azim Permji

82. 6TH S 2-6V& BlMICUETID FLOLISH 6L 2605
L&E&HET Qzmems 2019  IMfisanseamw

QeuerfluiLLg?
[A] UNESCO [B] UNIDA
[C] UNICEF [D] UNFPA

Which international agency has recently
published a State of World Population 2019 report?

[A] UNESCO [B] UNIDA

[C] UNICEF [D] UNFPA

83. 2medlw6dr eumeLIT LIS LIGIQ & ITem6L 6TTH S
D, 600TLY.6V [HL[HSS1?

[A] 1916 [B] 1918

[C] 1917 [D] 1919

Learning Leads To Ruling
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The Jallianwala Bagh massacre was held in which
of the following years?

[A] 1916 [B] 1918

[C] 1917 [D] 1919

84. 2019 Lmrett GLeNL Ufl& Qeuedtm @\HS W
eugeumMMTAFIWIF wmy?

[A] F@p& Ul &L Dol IWILD

[B] @7 umest emLilLd

[C] MGS 1BTJ ITULI60OT60T

[D] &8 Fismy

Which Indian Historian has won the 2019 Dan
David Prize?

[A] Sanjay Subrahmanyam

[B] Irfan Habib

[CIM. G. S. Narayanan

[D] Sumit Sarkar

85. 2019 World Radio Day (WRD)eor
& (5 LIG\ LI IT(IH 61T 6T60T60T?

[A] Radio and Sports

[B] Radio is You

[C] Dialogue, Tolerance and Peace Broadcasts

[D] Securing freedom of expression and
journalists’ safety

What is the theme of the 2019 World Radio Day
(WRD)?

[A] Radio and Sports

[B] Radio is You

[C] Dialogue, Tolerance and Peace Broadcasts

[D] Securing freedom of expression and
journalists’ safety

86. W&6L LAWASIA wefls 2 flemwnger
LIBHT6H - 2019 HLHS @) LD 6TSHI1?

[Al Blw, QL6060 [B] 7meh&

[Cl @ity [D] LGeor

Which city was the venue of the first-ever
LAWASIA Human Rights Conference 2019?

[A] New Delhi [B] Ranchi

[C] Jaipur [D] Pune

87. ojevoremiouilev, ‘Future of Consumption in
Fast — Growth Consumer Market — India’ eT6dTm
Ifisamsamw QeuefluILL  FIuGCHF
S|eMOLIL] 6T81?

[A] 2_6v8 QUITEHETTST LOETMLD
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[B] #76uG& & HITevor W BISIWLILD

[C] 2_6v8 UM

[D] .67 seval, 9yndlafluiev mMILD Licvor LML ()
SemLoLiL]

Which of the following international
organizations has recently released the report
‘Future of Consumption in Fast-Growth Consumer
Market — India’?

[A] WEF [B] IMF

[C] World Bank [D] UNESCO

88. 261L_& &&1H B 75 ) M & T6uT G L L_6v0T1 Sl 65T
(AFMF) semeveugms BlwWS&&LIUL 66T
@BHH W LSS flenasWwImeTy wimy?

[A] et Qgulledt  [B]N LD

[Cl meq6d Gamiugm [D] e mOm G &Femsifl
Which Indian journalist has been appointed
president of the Alliance for Media Freedom
(AFMF)?

[A] Vineet Jain [B] N Ram

[C] Shaili Chopra [D] Shoma Chaudhury

89. WM(H &S ICSI 6UITLDIHITET &ITS 60 60TW TEITIT
Nl (5 &I eULPMEISLILIL (D6ITemg?

[A] 981D L9GTbeS  [B] 245 GHMSHETR
[Clpree ugrg D]l @bg guiler

Who has been conferred the ICSI Lifetime
Achievement Award?

[A] Azim Premji [B] Adi Godrej

[C] Rahul Bajaj [D] Indu Jain

90. &eumdl eNlCeusTaTH ST LNDHS 2,600T(H

51?
[A] 1859 [B] 1863
[C]1865 [D] 1856

In which year, the great Indian scholar Swami
Vivekananda was born?

[A] 1859 [B] 1863

[C] 1865 [D] 1856

91. @BHWMelledT eTHFHLI LICLEEMEVENEF
CFIhs IAnMelwemeTiser, ULTNES
@B wmellev, 600 &G e e 601
GurfleorsS) 60t OO G660 T QUL L ITEM 6U &
CFibhs @B UBHw s QB
Seuenemr'smw (‘Paddy Frog’' belonging to the
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Microhylid genus Micryletta)
& 60T L1911 S 61T6Ieur I ?

[A] B V60 LILEHEMEVE LD

[B] 606160 L|QTITLIE60T6V LIS 60608 &HLPE D

[C] meuamireumev GB([H LIV&HEM6VEHEHLNELD

[D] H60&HSHSHT LIVSHEMLHEHLNELD

The scientists at which Indian university have
discovered a new species of ‘paddy frog’' belonging
to the microhylid genus Micryletta from Northeast
India?

[A] Delhi University

[B] Lovely Professional University

[C] Jawaharlal Nehru University

[D] Calcutta University

92. QHH WS 5160)600T5
S WIS S S5emeveufleir HBw
QFWGUITETIT TS Blwid&sLuL (eTemeury

wry?

[A] ©18F & Cxauetr [B] ITFMHE GLOMF
[ClIVe&Lumgmed  [D] sipellbs &L,

Who has been appointed new Secretary to the Vice
President of India?
[A] Ashok Dewan [B] Prashanth Kumar

[C] 1V Subba Rao [D] Arvind Kapoor

93. L9l 6dTeu(H LD TIH S LMBleVESS) 6V,
1H LI LImevor(h) Gloemm 53] Lieurmeof]
Q& TeoOTL ML LILIL L gI?

[A] gib@ MDD Srequsy

Bl 2_ 55701 7CsH &1

[C]l LHERWLILNTEHFLD

[D] & mymagLq I

The 2019 edition of Mela Kheer Bhawani is
celebrated in which of the following states?

[A] Jammu & Kashmir [B] Madhya Pradesh

[C] Maharashtra [D] Uttar Pradesh

94. 2018 6L WeEQEUHSTMeU Feumedr CHEFIW
efl(pg! “Yashwantrao Chavan National Award”
QUMM @BHWT QUIGETTSTT [BlL6voriy
wrg?

[A]D. s=LILITFmeY [Bl 559 &MHS SMerv
[Clyaymb preger  [D] 2_7edll LGL6v

Which Indian economist is the recipient of the
Yaswantrao Chavan National Award 2018?
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[A] D. Subbarao [B] Shaktikanta Das

[C] Raghuram Rajan  [D] Urjit Patel

95. 2.6V8& &&EMSMTY el (WHO)
Neteu@pld 6THs SMevmGefley LG W

2_eusemmedlw L et & &Ml &F&6v
LHULS emL  “Global Influenza Strategy”
Bl miefujeitensi?

[A] 2019-2030 [B] 2020-2025

[C] 2022-2035 [D] 2019-2025

The World Health Organisation (WHO) has
launched new Global Influenza Strategy for which
of the following periods?

[A] 2019-2030 [B] 2020-2025

[C] 2022-2035 [D] 2019-2025

96. GlpsevoTLeurSGerfley wmy “Kusumagraj”
@ev& & W edl(h S “Kusumagraj Literacy Award”

QuUMOMTY?
[A] Geug e [B] 85 sullev
[C] ®6d1 S\ 5C [D] K. wfeusm

Who is the recipient of Kusumagraj literature
award?

[A] Ved Rahi [B] Jeet Thayil

[C] Dilip Chitre [D]K. Srilata

97. eTHS LOMBIVSS 6V, @)HS) W melletr LS w
GWeNflueor &evor(BHLINLq.8 & LILIL (H6Termsi?
[A] BGFTTLD

[B] &ievorm&Feul 1N FCSH & LD

[Cl g &

[D] P &H D

India’'s newest pit viper has recently found in
which of the following states?

[A] Mizoram

[B] Arunachal Pradesh

[C] Odisha
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[D] Sikkim
98. SIS S TTLILLTeULDTS &IT6V Bl 6016V
S|6uUEFTBlemeven L 31M el & & 6yeiTerT

2_6V & 6T @\ [TEvOTLTeUSI [HITH 6TS51?

[Al siwFeLTH S [B] WesrevrT B!

[Cl BTIGeu [D] &6fL60T

Which of the following countries has officially
become the second country in the world to declare
aclimate emergency

[A] Ireland [B] Finland

[C] Norway [D] Sweden

99, 2019940 SLev0TeOL ‘OI(HS5S eumifl & et
aLe0oT( - Year of Next of Kin' o5
sLUNY &S (WIgey QFWgdTaT @S w
LW SLILIEOL 6TSI?

[Al @BH W LML

[B] @b 3w eNlomeoT LILI6oL

[Cl@B@w @rmemiaid

[D] @bBHW &LCeVTIE &TeUeVLIEmL

Which Indian armed force has decided to observe
2019 as ‘Year of Next of Kin'?

[A] Indian Navy

[B] Indian Air Force

[C]Indian Army

[D] Indian Coast Guard

100. ojevoremioudlev &mevlnmeor CUIFMTA Wy

& fluev G\, TbhS5S 80 m
FMTHSEUTTTEUTT?
[A] eugeuTmy [B] yelluflwiev

[ClQum@ermsTr  [D] oimlefluiev

Prof. Kirpal Singh, who passed away recently, was
the renowned personality in which field?

A] History B] Geography

C] Economics D] Science
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Group 4 VAO General Studies Model Test 13 — Answer Key

1) C 21) D 41) B 61) C 81) B
2) D 22) C 42) C 62) C 82) | D
3) B 23) B | 43) B 63) | A | 8) | D
4) A | 29 c |49 | D 64 | D | 84 | A
5) D 25) D 45) C 65 | A | 85 C
6) C 26) | A | 46) | A | 66) D | 8) | A
7) Alan| a|an | a|en | a |8 ]| a
8) D 28) B | 48) C 68) D 88) B
9) D | 29 B | 49 | D 69) | D | 89 B
10) A | 30 C 500 | D 70) C 9) | B
11) B 31) D 51) B 71) D 91) A
12) A | 32 B 52) B 720 | D | 92 C
13) C 33) C 53) B 73) B 93) | A
14) D | 32 D 59 | A | 79| A |9 | ¢
15) A |3 | A | 55 C 75) D | 95 | A
16) A | 36) C 56) D 76) | A | 96) | A
17) B 37) C 57) D 77y | D | 97) B
18) A |3 | a |58 | a|7] a o] a
19) C 399 | D 50) B 799 | Db | 99 | ¢
20) D | 400 | D 60) C 80) | A | 100 | A
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